Z:(3000)ZHNLH 2 (3300)2EXEENLH 5 (3320) AL X2 Ml (3321) =2 2t HIKIBE: (120) 2 AV R 2 H| EEMELEED
2 = FS I m
Of &b of i - A p) =
.2 g Mg MM = of & o = A 2
3000 [= 50,897,300 & 140,185,071 X 0]
ZHION 295,559,371| 284,692,376 10,866,995 [Z 100,018,000 2 4,459,000 = 0]
3300 [=2 50,897,300 & 140,185,071 X 0]
ZERRABEI e 295,559,371| 284,692,376 10,866,995 [Z 100,018,000 DI 4,459,000 = 0]
3320 [= 50,897,300 & 140,185,071 X 0]
HE R % 295,559,371] 284,692,376 10,866,995 [Z 100,018,000 D 4,459,000 = 0]
3321 [=2 44,588,800 & 91,883,820 Xl 0]
c2oe 178,472,620 181,616,868 3,144,248 [2 42,000,000 DI 0 =2 0]
100
2 A0 AF 51,720 56,700 A4, 980
120
ZAXAY 51,720 56,700 A4,980
201
AUt A 26,320 26,550 A230
26,320 26,550 A230/01 Yere |
ot gH| = 11,320
o Z 2| = 15,000
202
014l 23,000 27,750 A4,750




Z:(3000) 2 MIOHEHl  2:(3300)=EXNJEEMNLHl & :(3320)HA X = Mg (3321) =2 22| NIAIEE: (120) B & R A HI [ME][ER: ]
L = S == S i}
of &b o A = pJ ES
.8 NE . MAE = Of & % = oA
23,000 27,750 A4,750101 ZLHOHI
ocZdH SEFL = 23,000
203
PR =&l 2,400 2,400 0
2,400 2,400 003 Al XL R FTIY|
cEZNSHRFA 2,400
200 [2 44,588,800 & 91,832,100 X 01
AHE Ol &F 178,420,900 181,560, 168 23,139,268 s 42,000,000 7| 0 2 0]
210 [2 44,588,800 & 22,587,100 X 0]
EEAY 109,175,900, 167,505,700 ~58,329,800 [2 42,000,000 O 0 2 01
207
P =gl 1,990,000 0 1,990,000
1,990,000 0 1,990,000(01 E44|
o ZHE M AS 1,990,000
(=) 597,000
(%) 1,393,000
308
NXSHH S 34,700 35,700 A 1,000
0l &




Z+:(3000) B MIOHEHl  2t:(3300)2EXNAEEINLH| & (3320) A X = Mg (3321) =22kl NIAIE: (210) E R A Y [ME][ER: ]

2 = SRR =R m
o o o - A = 5 z
Xt 2 8 MIE. NN = o & M = A 2
34,700 35,700 A1,00001 IXISHHIZAEE2
cHE AL = 34,700
(=) 34,700
401
N 69,388,200 135,086,000, A65,697,800

CHHI

67,057,500 131,354,000 A64,296,500({01 Al<H|

ocIINXNYX YT HH| 54,757,500
(%) 14,962,500

(2) 39,795,000

- ZAl (7XI72/42. 1km) = 39,795,000
(2) 39,795,000

- B2AHl (2X1F) = 14,962,500
oXYER A2 H (25IHA) = 10,000,000
(2) 5,000,000

(%) 5,000,000

CUWEMIXSR A (5)A) = 400,000
(2) 200,000

(%) 200,000

oOBI0IEE TS HY| (150H4) = 1,900,000




Z+:(3000) B MIOHEHl  2t:(3300)2EXNAEEINLH| & (3320) A X = Mg (3321) =2 22| NIAIE: (210) E R A Y [ME] [ &)]

i = bS] ] c -
— of Ao N Hl - A = ol %
N ERLE o of & o | = oA 2 = -
(2) 950,000
(%) 950,000
2,100,000 3,209,000/ A1,109,000/02 22lH|
oZIIXNAXYSET HH|l (7XP) = 2,100,000
() 2,100,000
230,700 523,000 A292,300|03 Al& L2 CHYI
o2IIX AN ST HU| = 142,500
(%) 37,500
() 105,000
oXYUE AST2IHA (250HA) = 72,000
(=) 36,000
(%) 36,000
CWEMII2R WA (5IHA) = 2,520
(=) 1,260
() 1,260
ocRI0IEE R HH| (1501A) = 13,680
(=) 6,840
() 6,840
403
XSS 37,763,000 32,384,000 5,379,000
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Z:(3000) 2 MIOHEHl  2:(3300)=EXNJEEMNLHl & :(3320)HA X = HIE:(3321) ==z 22 NIAIEE: (210) B = ALY [ME][ER: ]

o = S R im)
Of &F o A = 9l =
.28 NI HAE = o & o = A 2
0| H
37,763,000 32,384,000 5,379,000 01 XtXISHHM =2 X
oXYT YAHEZ2INA (30IHA)
18,000,000,0002! x 50% = 9,000,000
(2) 9,000,000
CUSAMIX2R A (5JHL)
1,100,000,0002 x 50% = 550,000
(=) 550,000
ocHRESTA FHY| (250H4)
7,000,000,0002 x 50% = 3,500,000
(=) 3,500,000
oREUH RIE2 24,713,000
(=) 24,713,000
Ottt HS~8s = 13,113,000
(=) 13,113,000
23 -2 = 11,600,000
(=) 11,600,000
220
KHHI AL 69,245,000 14,054,468 55,190,532
308
XIS S 50,000 34,468 15,532




Z:(3000) 2 MIOHEHl  2:(3300)=EXNJEEMNLHl & :(3320)HA X = Mg (3321) =2 22| NIAIEE: (220) XA A [ME][ER: ]
L = d @ = | oy i}
of &b oA AF = 9l =
.2 N Mg = G & M= oA
0l &
50,000 34,468 15,532/01 XX SHBASE2
oY T NELZA 50,000
401
NPT 51,420,000 520,000/ 50,900,000
CH|
49,636,760 520,000/  49,116,760|01 Al&H]
oXY=HHl (17X, 39.6km) 47,721,800
oHHMET KX 2 20,000
oXYE TREXTFY 500,000
oS HOHHEXIE Hl 199,280,0009! x 7IH4 1,394, 960
1,600, 000 0 1,600,000|02 224l
o XY= HHI 1,600,000
183,240 0 183,240 03 Al&Z 2 THY
o X = FH| 178,200
SEHEXE FHHl (7IH4) 5,040
403
XX S S 12,375,000 7,780,000 4,595,000
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H:(3000) B HNLHl  2:(3300)2EXNASENLY 8:(3320) AL TS M (3321) E2 2 KIAI! - (220) Kt HIAFES REIELE=E
L = S == S i}
of &b o A = pJ =
.8 NE . MAE = Of & % = oA

o9y QFI055, 3065 HE

300,000,0008! x 50% = 150,000
oHY SH055 L 200,000,0002 x 50% = 100,000
oEY H4HI0PS L 200,000,0002 x 50% = 100,000
oOtA SEISE~EA SELE

300,000,0002 x 50% = 150,000
SOl SBAE-HE SHIFY

200,000,0002 x 50% = 100,000
oOtA MIHIZAIZR XIQY2  200,000,0008 x 50% = 100,000
oOHA Q1% 28 ST E

200,000,0002 x 50% = 100,000
SOt SBAE~A SHEE

200,000,0002 x 50% = 100,000
oN& BE-FZH SHEZR

400,000,00024 x 50% = 200,000
o A& QIR - X2l SHEE 24

200,000,0009! x 50% = 100,000
okldt B4 . AL SHEZ2HA

200,000,0008! x 50% = 100,000
okt HEM SHEZZNL

200,000,0008! x 50% = 100,000
oh& DNE - NS SHECZREE

100,000,00084 x 50% = 50,000




X (3000) B RNl 2:(3300)2EXALE IR 8 (3320) BS Mg (3321) =2 22 HIKIBE : (220) KR AHES LEIEERED
ok = 7S I R == ] m}
of &b oH A 2 ol =
Xt BB MIE HIMIE = of & ¥ = A 2

oM& QAT (022])

200,000,000 x 50% 100,000
O MA BE-AXMCZ BIA

300,000,000 x 50% 150,000
oA H2~THH2H ST A DA}

300,000,000 x 50% 150,000
o=A EINS 28T 2 SIX

200,000,000 x 50% 100,000
oAb Us~AID| S XD A

200,000,000 x 50% 100,000
o=it HE 20 XYRIPA

200,000,000 x 50% 100,000
CHE &8 SHEZ2ME 400,000,000 x 50% 200,000
o224 HEHBI CREIE

400,000,000 x 50% 200,000
CRA =B HUAY TRETE

200,000,000 x 50% 100,000
o224 UM (ZR2018)MA

300,000,000 x 50% 150,000
o 24 @B (FA2085 ) N &

200,000,000 x 50% 100,000
oZA AR (REIZ)ER2INA

140,000,000 x 50% 70,000




&:(3000) 2 MOHEHl  2:(3300)=EXNABEINL | &:(3320) A& X+ Mgt (3321) =2 2tel NI KIEE: (220) KERIAFS [MES] [ :EH]
2 = S IS R == S )
of Ao A 2 ol =
.28 MEL MM = of & M| = oA

oQ)| Y 9E WA 400,000,0002 x 50% = 200,000
o@)| D=1 IHEAY 200,000,0002 x 50% = 100,000
o0l Be-as CT2HIE

300,000,0008 x 50% = 150,000
Q)| LB/ DYI 200,000,000 x 50% = 100,000
Q)| BES-2E C2HIY

100,000,0008 x 50% = 50,000
o0l SBN TRHALE 200,000,0008! x 50% = 100,000
oH( E3}=2~UHINL SHECZHEH

200,000,0008 x 50% = 100,000
oH0 SA £AWIHEBAF  300,000,0008 x 50% = 150,000
RN QM Ho| SHECZHEH

200,000,0008 x 50% = 100,000
o0 AHIA24X 500,000,000 x 50% = 250,000
RN Uy 23T 100,000,0008 x 50% = 50,000
R0 NAQ NACZETE

200,000,0002 x 50% = 100,000
o2 JE CRHTE 100,000,0008 x 50% = 50,000
R0 28 2T 200,000,0002 x 50% = 100,000
oR0 32 CRHTL 200,000,0002 x 50% = 100,000
oN& 3025 M| 100,000,0002 x 50% = 50,000
oMNE BAI=~3tOTGI2l  200,000,0008 x 50% = 100,000
oNH ME~EHH2 P35 STE
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H:(3000) B HNLHl  2:(3300)2EXNASENLY 8:(3320) AL TS M (3321) E2 2 KIAI! - (220) Kt HIAFES REIELE=E
L = S == S i}
of &b o A 2 ol =
.8 NE . MAE = Of & % = oA

200,000,0008! x 50% = 100,000
oNH SH~HE T 200,000,0008! x 50% = 100,000
oAN& Hlo~-82 2E35 HEE

200,000,0002 x 50% = 100,000
oHY 0g-SY CREATE

1,200,000,0008! x 50% 600,000
oHY Y AUCR2IHA 400,000,0002 x 50% 200,000
oHY |C-BEH YR 400,000,0002 x 50% = 200, 000
oX Il HEFTA 200,000,0002 x 50% 100,000
oFQ AL HAY 200,000,0002 x 50% 100,000
oHY HIW MHTAY 200,000,0002 x 50% 100,000
o8N BY HA-TE LA AL STF

1,600,000,0008! x 50% 800, 000
oBH AS-ENUN BT HEH

1,000,000,0008! x 50% 500,000
B4 BS 2095 S0HEZ2 HEY

150,000,00084 x 50% 75,000
o2H UY Q324 120,000,0002 x 50% 60,000
cEd FE-UE HLE 200,000,0008! x 50% 100,000
B4 A WHIY2 TF

200,000,0008! x 50% 100,000
oBH MU~ HEEF 200,000,0008! x 50% 100,000
o824 II5-28 HEE 200,000,0008! x 50% 100,000
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Z+:(3000) 2 KN 2 1(3300) 2 E Xt (3320) A& X Mg (3321) =2 22 HIKIBE : (220) KR AHES CHo M
n = < | H ml
N = J| ES
o8 NI MAIE = = AU

ol DS AX-QF T2 IE

400,000,000 x 50% 200,000
oOlA O ZEMDL K204

300,000,000 x 50% 150,000
SOlAF A 3065 EHEE 200,000,000 x 50% 100,000
oOlA TS OIE D I ZAF

200,000,000 x 50% 100,000
SOl DR 2I~AZ22|2 St

200,000,000 x 50% 100,000
SOl A Al RA~SE |2 ST A

200,000,000 x 50% 100,000
SEfOt RE35 OtpiQt ST

200,000,000 x 50% 100,000
SENQH DEIAIDIX H2I& 300,000,000 x 50% 150,000
SEHQt BE35 Y= TRHEA

200,000,000 x 50% 100,000
oA HO| G0t 2ERUTE HEE

200,000,000 x 50% 100,000
oYXl BA AN SHECZ BTN

200,000,000 x 50% 100,000
oYX NI 2N SHETZ HEE

200,000,000 x 50% 100,000
oYX BH SOHEZ2(2IE204) 2
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:(3000)ZMOKLHl B (3300)2EXA SEHLY| 8 :(3320) A& X% M3 (3321) E 2 22 MK (220) RERIAFES REIELE=E
L = S == S i}
of &b o A 2 ol =
.8 NE . MAE = Of & % = oA
70,000,0008 x 50% 35,000
oYX Y AN HEE 100,000,0008 x 50% = 50,000
oYX USK~2HHX SHZH
200,000,0002 x 50% 100,000
oYX =HRSH HEH 200,000,0002 x 50% 100,000
oYX AT ANY-ZH SHEEY
200,000,0002 x 50% 100,000
701
JIEFSI A A 5,400,000 5,000, 000 400,000 cZHWEAL 2243 5,400,000
==
3322 [2 6,308,500 & 24,528,802 X 01
Xl 2T 2t el 85,014,302 57,104,486 27,909,816 [2 49,718,000 O 4,459,000 £ 0]
100
2 A0 A 93,600 95,410 1,810
120
AN A 93,600 95,410 A1,810
201
ot o | 43,000 40,770 2,230
43,000 40,770 2,230/01 L2
o B4 24| 17,000
32232 2 MAl 5,200
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Z:(3000) 2 MIJHEH] 2t (3300)2EXRBEoHLH| &:(3320)HA X% Mgt (3322) X| == 24 T 22| HIAIE: (120) 3 &= Z I [HE][SR A ]
L = d @ = | oy i}
ol &b o A = Il =
a2t g MlE L AAE =2 of & o = A
o9 ACh = 5,600
o2 EH| = 15,200
202
(0: 1] 45,600 49,640 4,040
45,600 49,640 A4,040|/01 =WHOIHI
oXlx=2l ERFA = 45,600
203
AR =AY 5,000 5,000 0
5,000 5,000 0/03 AIBEF=AHRF=XIH|
SYNELE=FSR R =P S = 5,000
200 [= 6,308,500 = 24,435,202 X 01]
AL O &F 84,920,702 57,009,076 27,911,626 (2 49,718,000 DI 4,459,000 & 0]
210 =2 6,308,500 = 14,028,334 X 0]
BXAIY 74,513,834 51,737,637 22,776,197 [ 49,718,000 2| 4,459,000 = 01]
401
AlEHYE 34,408,000 18,111,137 16,296,863
(=]
34,331, 162 18,053,298 16,277,864|01 Al&H]
ofofl &S K MEAL (21X1F) = 33,331, 162

_14_




Z+:(3000) B MIOHEHl  2t:(3300)2EXNAEEINLH| & (3320) A X = MI: (3322) Xl =2 RH 22l NIAIE: (210) E R A Y [ME][ER: ]

t = d 4d £ | Il
Of &F o A = Il =
.28 NI HAE = o & o = A 2
(%) 8,873,265
() 19,998,897
(21) 4,459,000
o EEtASAl AEAY = 1,000,000
(=) 500,000
(%) 500,000
76,838 57,839 18,999 03 Al &R HH|
oATHASR ALY = 76,838
(%) 30,735
() 46,103
403
XIS S 40,105,834 33,626,500 6,479,334
JE=NIPS]
40,105,834 33,626,500 6,479,334 01 XtXISHH =2 X
oMM X HHl (14M4)
15,421,667,0002 x 80% = 12,337,334
(%) 3,084,334
() 9,253,000
odtEEA L FHHl (11X7) = 5,460,000
(2) 5,460,000
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Z+:(3000) B MIOHEHl  2t:(3300)2EXNAEEINLH| & (3320) A X = MI: (3322) Xl =2 RH 22l NIAIE: (210) E R A Y [ME][ER: ]

o = rSI= R e im)
Of &b o AF = 9l =
.2 g M AAE =2 of & M = oA
SEUHEXY A+ZAY (13HAIZ) = 16,500,000
(=) 1,540,000
(2) 14,960,000
CHASRUBES T FUSUAY (5MAIZ) = 508,500
(2) 508,500
o ASIEFHIAIY (16A12) = 5,300,000
(2) 5,300,000
220
XH AL 10,406,868 5,271,439 5,135,429
207
o PO | 4,000 800,000 796,000
4,000 0 4,000/02 & ALK
cUNHE MK L SHOIX B2+ = 4,000
301
B A2 2,400 1,700 700
2,400 1,700 70011 JIEF2 &3
oXM=ETRIA HE 2,400
EEE 15,0002 x 209 = 300
2 AHIH 70,0002 x 15% = 1,050
SNE 70,0002 x 15% = 1,050
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Z+:(3000) B MIOHEHl  2t:(3300)2EXNAEEINLH| & (3320) A X = ISt (3322) Xl =& TH 22l ARt (220) KEAI A [NE] [ H&]
o = SIS - im)
o &= &k = Il =
.2 g M AAE =2 of & M = oA
308
XX Al S 210,000 210,000 0
ol&
210,000 210,000 001 IRSHHBNEES
CHESX ML HE =&, LHEII+4T
8.000,0008! x 15JHAIZ x 70% = 84,000
SRNHILX =g¥4++8 = 126,000
401
NE=EEIES 500,000 300,000 200,000
k]
500,000 300,000 200,000/01 Al&H
SRTMASXIMEAIY A AL = 500,000
403
XX Al S 6,952,000 1,769,000 5,183,000
X =0l
6,952,000 1,769,000 5,183,000/01 XXX X2 2%
S ESEN=RS = 344,000
oBld BYEXZY 1,057,000
215t HYEXZY = 477,000
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Z+:(3000) B MIOHEHl  2:(3300)=2E Xt (3320) A & X ISt (3322) Xl =& TH 22l MIAIEE: (220) XEXI A ctel ]
2t = Bl imi
&t Il =
2L ME MAlE = s A &
Ag1gotd HYEXEZ. = 580,000
o2t0l &= AIE JHEALY (160HAIZ)
2,920,000,000& x 50% = ,460,000
oAREFU=SR SHAIE
1,292,000,000& x 50% = 646,000
oHEA HH| (&) 800,000,000& x 50% = 400,000
oS ASHEEHl (&) 400,000,000& x 50% = 200,000
o822 ASHEFHl (=) 300,000,000& x 50% = 150,000
cUHEEEH (28) 400,000,000& x 50% = 200,000
ocl=&AH (2¥) 400,000,000& x 50% = 200,000
o= MAEZHl (MA) 100,000,000& x 50% = 50,000
o3 AGHEEHl (M) 500,000,000& x 50% = 250,000
oHE ASHEEHl (=4 300,000,000& x 50% = 150,000
o=Ac NMEZH (S4h) 200,000,000& x 50% = 100,000
o4& AGHEEHl (34 150,000,000& x 50% = 75,000
o ZXl AGHEEHl (34 200,000,000& x 50% = 100,000
oZAH AGHEEHl (HD]) 100,000,000& x 50% = 50,000
oZH ASHEFHl (HII]) 300,000,000& x 50% = 150,000
cUdZAFHl (R0) 200,000,000& x 50% = 100,000
ocEHAMA MHAZE KT (F0)
800,000,000& x 50% = 400,000
© & EHl (R0) 400,000,000& x 50% = 200,000
= AoHEZHl () 140,000,000& x 50% = 70,000
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Z+:(3000) B MIOHEHl  2t:(3300)2EXNAEEINLH| & (3320) A X = MI: (3322) Xl =2 RH 22l NIAIES: (220) KA ALY [NE] [ H&]

2 = S i)
of b o A 2 ol =
e = of & % = A
oHMB ASIAAEY (24) 600,000,008 x 50% = 300,000
< OIEIZFH (0 &) 400,000,0008! x 50% = 200,000
SFHAFFH (0f4) 200,000,0008 x 50% = 100,000
702
JIBEES 2,738,468 2,190,739 547,729 | = o CH24D| 2 2,738,468
- osEE R 342,308,392,4028 x 8/1,000 = 2,738,468
3323
SEALAY 3,249,443 2,835,945 413,498
100
= RPN, 2,987,507 2,771,168 216,339
110
o1 2,579,098 2,418,742 160,356
101
o1 2,579,098 2,418,742 160,356
1,503,593 1,417,445 86,148/01 J1=22
SR 960,229
.43 285 2.410,9002 x 1% x 128 = 28,931
.53 305 2,209,3002 x 4% x 128 = 106,047
2 285 1,884,1008 x 119 x 128 = 248,702
2 255 1,649,50080 x 259 x 128 = 494,850
2 128 1,134,7008 x 6% x 128 = 81,699
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X1 (3000) 2N H 2 (3300)2EXRA L ERLH| B (3320) 24 & X 4 HIgt: (3323) Z & 21 & AP R HIAIEE: (110) 0121 H] EBIECREN
ut = "SI E == ] Il
Ol A o At = p] x
I s ME L AIAIE = o & | = A
oJls= 159,070
= 228 1,580,6009 x 2% x 128 = 37,935
= 208 1,374,1009 x 2% x 128 = 32,979
2 158 1,112,3009 x 5% x 128 = 66,738
102 118 892,400 x 2% x 128 = 21,418
oJ|ug 1,152,878,0002 x 1/6 = 192, 147
o4y 1,152,878,0002 x 2 x 1/12 = 192, 147
341,230 316,127 25,103/02 =%
ollE4Y 49,416
HH < Xt 30,0002 x 58% x 0.9 x 12 18,792
I E 20,0002 x 58% x 2.2 x 12 30,624
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